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Josh has 3 prize tokens. Anna wins 7 prize tokens.
How many tokens do they have altogether?
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There are 5 cars in the car park. 4 more cars park in
the car park. How many cars are there altogether?
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There are 6 birds in a tree and 7 birds are in the next
tree. How many birds are in the tree altogether?
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Josh has 3 prize tokens. Anna wins 7 prize tokens.
How many tokens do they have altogether?
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There are 6 birds in a tree and 7 birds are in the next
tree. How many birds are in the tree altogether?





